N & 0l & AF S E A A

I 2B T AT
YR et A&
SBUX THY Y (RSB RTL LIS SES) (e @8
SN EB -GS - MBAY - BES 0 & 24 p/E-T" HRE2
BBEAID 10,968,421 8,341,754 2,626,667
= 2,280,000 2,280,000 0
= 150,000 150,000 0
2 8,538,421 5,911,754 2,626,667
Sl ome 2= 10,760,299 8,133,754 2,626,545
= 2,280,000 2,280,000 0
= 150,000 150,000 0
2 8,330,299 5,703,754 2,626,545
Tl X5 PY(BLRSTNRILLZLIANYS 10,760,299 8,133,754 2,626,545
31
= 2,280,000 2,280,000 0
= 150,000 150,000 0
2 8,330,299 5,703,754 2,626,545
=3CX 2y L el 339,802 253,754 86,048
201 Yer2 Y| 132,249 78,601 53,648
01 AtR2elt| 6,000 3,000 3,000
OH4+H2HALRERY 1,000 0 1,000
O8I - LESTUX YUDH AFFI}222 5,000 3,000 2,000
02 ZZ2Y| 126,249 75,601 50,648
OH+H2IE 22l 37,368 0 37,368
—H&H2IF BUIKX S
2,074,0002! * 122 24,888 0 24,683
~HAH2IE 4+TR3 500,000 «128 6,000 0 6,000
—HaHE Hae3 60,0002 * 122 720 0 720
—H4X2lZ HIISx2Ed
1,440,0002 %422 7| 5,760 0 5,760
OAN&E S22yl 31,873 18,593 13,280
—Z2ETCX (HHR) 24,000 10,720 13,280
401 AEHIYLS ] 70,000 40,000 30,000
01 Al&H] 70,000 40,000 30,000
OSRHSTHA YYE CTVIINIHE X
15,000,00024 *14! 15,000 0 15,000
ORE=TLXSYEIs EHALK
10,000,000 *14! 10,000 0 10,000
O M ITERIZIANRA UECA S
5,000, 0002 * 14! 5,000 0 5,000
405 X+t S| 2,400 0 2,400
01 XHAYLSEF S| 2,400 0 2,400
OFMITERIBANRA 257 2,400 0 2,400
—2EH 800, 0002 *2CH 1,600 0 1,600
—TaH 600, 0002 * 14 600 0 600
S LLIE 200,000 *14] 200 0 200
ol 1l bl 2,540,497 0 2,540,497
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